- BblcoTa paboyeit 30Hbl , M A

15,3*
16,3
17,3*
18,3
20,3*
21,3*
22,3

A N3 23 133 143 15,3 16,3 173 183 19,3 203
A BbicoTa pabouein

nnowanku or nona,m 1B 123 133 143 153 163 173 183 19,3 203 203

B labapuTHas BbicoTa,M ¢ 133 %43 153 163 173 183 19,3 203 23 23
c B 5

bicogElRy < A 497 522 558 583 619 644 680 706 742 767

30Hbl, M

Pama 1,0 M ( BMA - 1400)

Pama 2,0 M ( BMA - 1400) 12 1 14 13 16 15 18 17 20 19
Pama 2,0 M npoxogHas ( BMA -1400) = 1 - 1 - 1 - 1 - 1
Mepwvna orpaxxpeHusa 7 7 8 8 9 9 10 10 n n
CTsh>KKa aunaroHarnbHas 5 6 6 7 7 8 8 9 9 10
KoHconb TpeyronbHas (C xoMyTaMu) 4 4 4 4 4 4 4 4 4 4

Pa6ouad nnolwaaka ¢ 601bLUM NTIOKOM 1

B
—
—
—
—
—
—
—
—

Pa6ouas nnowagka 6e3 noka 6 6 7 7 8 8 9 9 10 10
CTs)KKa YHMBepcarnbHaga cTanbHas 4 4 4 4 4 4 4 4 4 4
TpaBepca L =1,8 M ycuneHHasa 2 2 2 2 2 2 2 2 2 2
YHUBUNKA 4 4 4 4 4 4 4 4 4 4
KpenéyxHaa ckoba 24 28 28 32 32 36 36 40 40 44
Mepwuna BepxHue gna BMA - 140071 1 1 1 1 1 1 1 1 1 1
Mepwuna orpaxpgeHus (BMA - 1400/1) 4 5 5 6 7 7 8 8 9
NecTtHnua ona BMA - 140071 5 6 6 7 8 8 9 9 10
JlectHnua ona BMA - 1400J1 kopoTkas 1 - 1 - 1 - 1 = 1 =
O6oMnMa yHuBepcanbHas 4 4 4 4 4 4 4 4 4 4
Onopa BuHTOBadA L = 650 MM 4 4 4 4 4 4 4 4 4 4
Manka-dpukcaTop ona onopbl BUHTOBOM 4 4 4 4 4 4 4 4 4 4
MpoponbHoe 6o0pToBOE OrpaXkaeHue* 2 2 2 2 2 2 2 2 2 2
MonepeyH. 6opT. orpaxa. (BMA -1400)* 2 2 2 2 2 2 2 2 2 2

* [lon. KoMMneKTaumsa



